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SIMONI  Francesco
Internet Tourney  2004
10° Premio

A – diagramma :

1.Te5  Af5+    2.gxf5  Ag1    3.De8 (Dg6?, Df7?)  Cf6≠
(1.Td4?  Axf4  2.gxf4  ??  3.De5?  Cf2?)

B – Ae6 > g8 :

1.Td4  Axf4    2.gxf4  Ae6    3.De5  Cf2 (Cf6?)≠

    H≠3                A-B              6+14
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SIMONI  Francesco
Phénix  2004
1° Premio

Soluzione 1 :     1.Cf4+  Rg5    2.Ce7  Cg3 (Cf4?)    3.C7-d5  Ce4≠

Soluzione 2 :     1.Cg3+  Rh4    2.Cc7  Cf4 (Cg3?)    3.Cd5  Cf-e6≠

    H≠3             211111           5+11

3
SIMONI  Francesco
The Ural Problemist  2003
2° Premio

Soluzione 1 :     1.Dd8  Cg8    2.Tc7  Ce6    3.Dxf6  Cxf6≠

Soluzione 2 :     1.Tc5  Cxf7    2.Cc2  e3    3.Txg5  Cxg5≠

Tentativi :
1.Tc6?  Cg8  2.Cc2  e3  3.Txf6  Cxf6?
1.Da5?  Cxf7  2.Tc7  Ce6  3.Dxg5  Cxg5?

    H≠3             211111           8+14
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PARRINELLO  Mario
Alkidiki Internet Ty  2004
5° Premio

A – diagramma :

1.Cd5 (Ce ~?)  Tb5    2.cxb5  Rxd5    3.Cg3  Ae3≠

B – Pg4 > g3 :

1.Cd6 (Cf ~?)  Ab6    2.cxb6  Rxd6    3.Cg4  Tf5≠

    H≠3                A-B              6+14

5
SIMONI  Francesco
Best Problems  2004
1° Premio

Soluzione 1 :     1.Tc7  Dxf6+(A)    2.Rg4  Rb6    3.Rh5  Ad1(B)≠

Soluzione 2 :     1.Aa2  Ad1(B)    2.Rg5  Ra4    3.Rh6  Dxf6(A)≠

    H≠3             211111           3+11
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GAROFALO  Antonio
CISTJAKOV  Alexander
Best Problems  2004
3° Premio

Soluzione 1 :     1... Ah4    2.Td5  Ae1    3.Cb5  Ab4≠

Soluzione 2 :     1... Tb2    2.Dd5  Tg2    3.Cf5  Tg6≠

    H≠2,5           211111          5+13


